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No. of Questions : 100
a¥ it B et 100

1
Time : 15 Hours Full Marks : 300

o 2 e Ul - 300

Note :{1] This question booklet contains 100 (hundred) questions in all
(30 in Bection - A and 70 in Section - B). Attempt as many
questions as you can. Each question carries 3 marks. One mark
will be deducted for each incorrect answer. Zero mark will
be awarded for each unattempted question.

9 geF-gRaw § H 100 (M) 999 & (@8- A A 30 @
goz-§ ¥ 70 )| AffE g9 @ & FE B T B
wees ggH 3 (fF) ot @ B g% o Iov B fg o
3% HIET AT SAF STIAd W @ A 7 @)

(2} If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

afz ot Sefeqs aud 98 IOX B Frae ada 8f, & Feea
gel 39T & |

3 P.T.Q.
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01.

Section-A
Hrs-JH

Indian education put emphasis upon :
{1) The tradition of Indian society

(2} To give Honour to clders & teachers
(3) Cultivation of values

(4) All of the above

Aoy fImn wemy 3h 2

(1) "™ g9 # qoqy gx
(2) RHUPH Ud 72 B THT qe
(3) W gy & "oy gv
[4) SUIERT @3 gy

"Every schoal subject has a disciplinary value," i means, that ;
(1) It brings discipline among students

(2) It teaches certain habits and qualities 10 train the minds of
students

(3) Every subject is the outcome of the work of disciplined thinkers

(4) It requires disciplined methods of teaching

“nﬁasﬁ?mtﬁ?am%qmwmgsmmmam%,”m
ST B fRp -

(1} I8 8El § saves omar &

(2) ﬁmﬁ%mﬁ@mqﬁwﬁ%m%
(3) ﬁmﬁwmwﬁaﬁaﬂ%maﬁrm%

(4) sﬁﬂaﬁnfﬁafﬁwﬁrfaaﬂmwwﬁ?ﬁ%

4
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A teacher should plan his lesson before he goes to his class, because
it helps him to :

(1) Satisfy parents
(2) Create happiness in the classroom
(3} Achieve curriculum goals

(4) Assign home work and classroom work

Teh HHIYF F Fel ¥ T | v & 9 9IS F5 Aerr g9 o)
@R FfF a8 IgH "erEdr ST B o

(1) PRl ® G H F
(2) FRT F§ A=< IG~ A H
(3) dIETEH F W Bt owiid H
(4) EHId U HEEE FaH H J

For becoming a good teacher, the most important quality of a person
IS :

(1} Genuine interest in teaching

(2) Knowledge of his subject

{3) Ability to control students

(4) Ability of gnod expression

U HB] HANP 991 B 62, uw A B gEw geagel dvam
&

(1) fBmmr 7 afam sy @

2) e & A= A

(3} BEt & FrEfE w # i 8

(4) or=t vl i den @

5 P.T.O.
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05. If [ will become a teacher my most preferred activity will be to
(1) Give important questions to students before examination
{2) Dictate notes in the class
3] Clear their difficulties regarding subject-matter

{4) Make student disciplined

qﬁﬁwmwmﬁw%ﬁﬁwﬂaﬁwﬁmmﬁm
(1) qﬁmﬁuﬁmﬁaﬁmﬁnﬁwh

(2) wET H AEw T

(3) ﬁwmaﬁaﬁmmmﬁﬁgm

(4) o=t B sienfEa g

06. If a student gives Wrong answer to your question you will
(1)  Scold him for not having learnt his lesson properly
[2) Explain why his answer is wrong
(3] [gnore the wrong answer

1) Ask another student to answer and ighore him

AL OF B HID T BT IEAT B B qw Suq
(1) aﬁaﬁmﬁrmﬁaﬁ%%ﬁﬁgﬁﬁ
(2] 9% ¥ HTT % 0 IO oo 3

[3) T IeTT 9T o TS Iy

(] ﬁﬁ%ﬁg‘ﬂ%mﬁwﬁﬁraﬁﬂsﬁ?aﬂaﬁaﬁ&naﬁ?f



07.

08.

140/92/4{1)

You are teaching a topic and a student asks a question unrelated to
the topic, What will you do ?

(1} You will permit him to ask unrelated question
(2}  You will not permit him for this
{3) You will consider him as undisciplined and punish him

{4) You will answer the question after the class

A Fe A o IS 9ol @ F olX um v ure @ owiwRyy g
BT & | MY T HEf ?

(1) o9 I orEst@ gv7 gud a argakr 20
(2) T I rdetaa ueT qeq & srgufay wdt 2
(3) T I/ g oAl e R

{4) T TR FEH I a7

What type of teacher would you like to be ?

(1} A teacher who teaches the whole curriculum

(2) A teacher who helps his students in learning

(3) Teacher who is a friend, philosopher and guide of his students
(4] A teacher who maintains geod discipline.

A fFE GBI B RAYFH 7 S8 ¢

(1) HASH o o6 gT grsmma # ggEr B

(2) ovems A oftem & wEt @ gergar s B
(3) oTETgE o BE @ =, T ok mas ¥
(4) STEATH ST ITEBT I T B

¥ P.T.O.
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09, At authoritarian level teaching is :

10.

11.

{1} Teacher centered (2) Child- centered

{3) Headmaster centered (4) Experience based

g W # o
(1) oreAs Bfa aar 2 (2) == &fEa @ar 2
(3) UHFTEAIH Bfmd BN T (4) AYWE e

In order to modify the undesirable behaviour of a student the most
effective method is :

1] To find out the reasons for the undesirable behaviour and nro-
vide remedies

(2) To bring it to the notice of parents
(3} Teo punish the student
(4] To ignore it

BEl & AT FEe B Hadd & %9 § §EQ gEEyel @Bfr 2

(1) aifed sgget & HREN H 9T T HT IR ITIN 9259
FT

(2) AR ® gl wE
(3) BE &l gus 247
(4) ITH IUET FLAI

Secretly is to openly as silently is to :

(1) scarcely (2) impolitely

{3) noisily (4) quietly

S My giemm & R & 39 Pragar

(1) Zovam & R B (2) Sfredr & o B
@B g & R @ 4) & /A B
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13.

14,

15.

16,

14U/92/4{1)

Which number would replace question mark in the series
7,12,19, 7 39

TITETTS B T G 3P TARY

(1} 29 {2) 28 (3) 26 (4) 24
Mind : Body ::

{1) Water : Air {2) CPU : Hard Disk

(3] Ship : Oil (4) Software : Computer
79 : 9T o

(1) 9=t : &ar (2) @Y : efeen
(3} & : qa (4) WIFAGT : Fogex
Life is related to Death in the same way as Hope is related to :
(1) Sad (2] Despair

{-3) Pain (4] Cry

e &1 @9 g F ¥ S s o d@afya §

(1) 3@ 8 (2) Fraem &

(3) = | 4) M= &

FAG, GAF, HAI IAH,

(1) JAK (2) HAL

(3) HAK 4) JAl

TF T 5], 9l U U%, T9 T &, o U O, ....... P
(1) o H (2) W9 T aH

3) WuH 4) & g o

Which word does NOT belong with the others ?

(1) guitar (2) flute

(3) violin (4) sitar

9 P.T.O.
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17.

18,

19.

Fres § & 89 o179 § dvafag T8 & ?

(1) PFer (2} ﬁ'gﬂ

(3) amfe (4) faar
Which word does NOT belong with the others ?

{1) leopard (2) Jaguar

(3) elephant (4) lion

T & § @ &1 o= o1 A} Gvafg wft &7
(1) (2) dgom

(3) &R 4)

Child : Family ::

(1} Flower : Bunch (2) Bird : Set
{3) Calf: Herd (4) Deer : Gang
Tedl - 9iRETT

(1) BT I (2) fafgar : qge
(3) BT : FYos (4) =g : I

I 5 is the brother of N, the sister of N is M, the brother of P is J and
the daughter of S is P then whao is the uncle of J ?

() J (2) 8 (3) N {4 M

uﬁrﬂﬁaarm?%%,qfﬁﬁrﬁwﬁ,qiﬁrméﬁ%ﬁmﬂﬂ%gﬁﬁ
98 O of @1 sfeer By B ?

(1 = (2) #§ (3) = 4 =

10



20.

21.

22‘

3, 10, 101, ?
(1) 100101 (2} 10201 (3) 10202

The full formof NTSE is :

(1} National Technician Search Education
(2} National Teacher Search Examination
{(3) National Talent Search Examination

(4] National Talent Selection Examination

WA e Am @

(1) o LFIEw w oo
{2) Fy=e daY g9 ogaiEyE
(3) AT = A SFNHATH
(4) ¥sE e uel seenfeeE

EDUSAT satellite was launched on

140/ 93/ 44}

(4}

11012

(1) 20* September, 2003 (2) 20" September, 2004

(3) 20% September, 2005 (4) 20" September, 2006

8 g g g fer

(1} 20 fHaw=ER, 2003 & Brar T ar
(2) 20 feaereT, 2004 &1 fFam w97
(3) 20 fe=R, 2005 %t Bem mam @
(4) 20 =, 2006 | T T e

11

P.T.O.
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23.

24.

25.

NIOS is known as :

(1) National Institute of Open Schocling

(2) National Institute of Open School

(3] National Institute of Overseas Schooling

{4) National Institute of Open Scholars

T A 3 OF SAET oy 2
(1) A FEIge o5 ol wgiim
(2) A TR ol S T

{3) ﬂﬂﬁﬁmﬁaﬂtﬁﬂﬂﬂ'&ﬂﬁﬁﬁfﬁh
(4} AT FEIRGE 1% T R

NEUPA was established in :

(1) 1976 (2) 1986 (3) 1996
AT A T g R o
(1) 19769 (2) 1986" (3} 1996 F

Who is the present director of NCERT 7
{1) Prof. J.S. Rajput

(2) Prof. Parvin Kiran Sinclair

(3) Prof. A. K. Sharma

(4} Prof. Krishna Kumar

THE A w1 {0 B PRys &G B 7
(1) H. 3.q8. e
(3) o u. F. ot

12

(4} 2006

(4)

2006 H

(2) A ¥ R RyaaRgT
(4i . FoT Y
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The theme of the 11t global monitoring report 2013-14 of UNESCO
WwaE

(1] Teaching and Learning : Achieving quality for all
{2) World Peace : Education and value
(3] Environmental Pollution

(4) Women Empowerment and Education

ﬁaﬁaﬁwwmﬁaﬁnﬁtﬂézma-mwgﬁﬁwm
(1) T qvs @it - ofafdr F=Rd ok it

(2) aw e : Ruew ofit a4y

(3) FEAEEITS degeE

(4) T PUEET qUs aoBe

Who wrote the famous book — 'We the people’ ?

(1) T.N. Kaul (2) J.R.D. Tata

(3) Khushwant Singh (4) Nani Palkhivala

“q T YA’ AT AT gEE e e 4

(1) o THe HA 7 (2) Ho IRo Fo =ye=r I
(3) guad fHe A (4) AN IreERETeT 3

The Cabinet of which state in March 2012 decided to give a grant of
Rs. 30,000 to high school pass Muslims girls for perusing their
education and marriage ?

(1) Uttar Pradesh (2) West Bengal
(3] Andhra Pradesh (4) Delhi

13 B.T.0.
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29,

30,

fope aT=1 & A ufteg A " 2012 oR T 99 gieE eEnet
FI 3% faEme ud fmn & @ 30,000 98 &1 AJEH TTH FH #H
Frotg feram ?

(1) JIIT u=9r (2) qi¥=m =T

(3] T W= (4) feosht

National Institute of Mental Health and Neure Sciences is situated at :
i1] Lucknow (2) Bhaopal

(3] Bangalore (4) Dethi

S FRICYE e dod 2w woE U |z Ruw 8

(1] a5 o (2) g ®

(3) s@weny H (4) fB=ht o

P.W.D. Act, 1995 is related 1o :
{1) People's works department
2] People's welfare department
(3] People with Disabilities

(4] People with diseasc

dto s=go dlo Tz, 1995 = duwer B
(1) 9ged axd feurda= 4
(2t WNgew FodET RBuda= |

(3) dige fae RRuafagd |
4) dige B fEdig A

14



31.

33.

Sectaion-B

-9

Kreb cycle takes place in :

(1) Ribosomes
(3} Mitochondria

e =% fFed ofeq S B 7

(1} rEsrEaryg
(3) "ESIEmfgar

Prothallus of fern is :
{1) Kidney-shaped
{3) Heart-shaped

G o MEeE R ST @ g @

(1) T
(3] FEATHIT

Chilgoza is obtained from :
(1) Cycas
(3) Ephedra

=T P o A & 7

{1y TFFFT 7

(3) 5%IT &

Cotton belongs to the family :
(1) Poaceae
{3] Malvaceae

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

14U/92/ #i)

Chloroplast
Endoplasmic Reticulum

ARG L
GBI SAfnT

Club-shaped
Flask-shaped

?

AT T HHIT &Hl

TATEFE & STEEIT &l

Pinus

Zamia

T &
Ffrgr @

Brussicaceas

Liliacear

P.T.O.
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35,

36,

37.

38,

HE B e w7

(1) qroE (2) sfSHE

(3) =TeEl (4) fofeae

Which is an auxin ?

(1] ATP (2) Puruvic acid
{3) Zeatin (4) Indole Acetic Acid
F= 7 | ‘o o9 & 7

(1) Toftodio (2) Melaw arg
(3) Prafes (4) U8 wHfes o
Aloe belongs to the family :

(1} Liliaceae (2] Malvaceae

{3) Rosaceage (4) Fabaceae
grpar fhe o w2 7

(1) fforo (2) FrRE?

3y T (4) oIt

Cortical vascular bundles one found in -

(1} Nyctonthes stem {2) Bignonia stem
(3) Strychnos stem (4) Boerhavia stem
HidFer das Juse BFEd yro o B 7

(1) [Feewtm aar (2} [T aar
(3) fegora amr (4) FefRar T
Cuscutais a :

(1} Parasite (2) Saprophyte

(3) Epiphyte (4) Halophyte

16
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41,
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FEET FT B 7

(1) awfE (2) WSt

(3) arfigEy (4) wEOTERER

‘Agar' is obtained from :

(1] Bacteria (2) Blue green algae
(3] Red algae (4) Green algae
‘T fFEE Ot BT

(1) Shar () i @ fam
(3) e e (4) &g =
Which of the following is Known as suicidal bag of the cell ?
(1) Vacuoles (2) Lysosomes

(3) Plastids (4) Ribosomes

frer ¥ § B9 FifdEm seardt 8w FwearT 7

{1) TS (2) WEEErE

(3) wnftega (4) THIERH

Bengal famine was due to !

(1) Helminthosporium oryzae
(2) Pyrnculana oryzae

{3) Xanthomonas oryzae

(4) Alternana solani

‘ST &7 TR fhae @oT geAr ur ¢
(1) Zafilifram saeft (2) RRgEARYr o
(3) or=REIATE Sl (4) SRS T

17 rY.0.
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42. Bog moss is called is ;
(1) Sphagnum (2) Porella
{3) Anthoceros (4) Morchantia

ST A9 e ¢

(1) THT7H (2) R

(3) Ty (4) =S fEar
43. Anti cancerous drug is extracted from :

(1) Papaver (2) Taxus

{3) Asparagus (4) Ephedra

&HT Ueft Za1 A Pl ol & 7

(1) w9ET (2) 2omg

(3) qETE (4) oBgT

44, How many nucleotides are found in a codon ?

T HsE A et ieEs o ¥ 7
(1) 2 2) 3 (3) 4 4)

45. Pneumatophores are found in :

{1] Riccia (2) Rhizophora
{3) Trapa [4) Selaginela
~ATRE R o oh 2 7

Yy Rfrmar (2) FHHhT

(3) Fwr (4) SIriEr

18
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46, Monothecous anther is found

47.

48.

(1) Liliaceae (<) Malvaceae
(3) Solanaceae {4) Poaceae
Th B TSN R g e @ 7

(1) Fafe (2) AT
(3) Hre=E! (4) druaH
Cypsella [ruits are found in :

(1) Sunflower 2} Citrus
{3} Tulsi (4) Mustard

e v Fed qe o & 7

(1) gdge (2)
(3) g (4) T

The lipid bilayer of many cell membranes is not compeosed of
phospholipids exclusively, if often contains :

(1) Cholesterol and Glycolipids
{2) Cholesterel and Glycoproteins
(3) Cholesterol and Mucopolysaccharides

{4) Cholesterol and Glycogen

T2 HIERl werel B s aEeay @9 wEniete ) 8 996
g, 3O° FH-FH 9 S € ¢

(1) HAEA T WEHIAAEH
2) DT T FEHGES
(3) AT aUT TR ey
(4) DEES T FAEHAT

19 - P.T.0.
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49. Where the mixture of enzymes required for oxidation of pyruvate and

fatty acids and for citric acid cycle, is contained in mitochondria ?
i1} In the matrix

{2} [n between intern membranes

(3] All around mitochondria

(4) None of above

TEEde aU Bderr & INRNFTT aur uEldS ovd °% & Bl
e o Feror Ageeetgar § 8 grar oy 27

(1) By 37 (2) ot wHEal B Ay A
(3) HAECrERIftEOT & emaary (4) Idgwa & wdt 7H

!hiﬂ;‘,'\hi‘hich one the following scientist pair had proposed fluid mosaic model

51l.

of plasma membrane?

(1) Gorter and Grendel (Q/Singcr and Nicolson
(3) Cereijido and Rotunno (4) Sleigh and Jennings

iR X | o Aafrrga 3 s Fo 3 A sfrey wys
oI Rean &r 7

(1) WX qur i (2) R qur e

(3) Tadfs=t qun fg=n (4) e a1 Afyg

The most common larva forms met within crustaces is Known as.
{1} 'Miracidium’ larva (2) 'Nauplius' larva

(3] 'Bipinnaria' larva {4} ‘Trochophore' larva

20
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53.

Y

14U/92/4(i)

FRIE A qaq " O o AR fevaes oygeen @ Frer sy
WRT &

{1) ‘PaEfsaa’ Fas (2) e’ B
(3} ‘affEar Ews (4) ‘ZrERIEIT Ry
In which one of the following groups all animals are hermaphrodite ?

(1] Hydra, Ascaris, pheretima  (2) Hydra, Homosapiens, Leech
(3] Tapeworm, Toad, Starfish (4) Hydra, Leech, Tapeworm

1 # 8 59 @ @ge & ar wrft o R 8 2
(1) eEgl, TEneE, GRfe (2) o5, emrdiEgy, &

(3) 2ugd, Is, wrftew (4) =g, o, gy
Which of the following does not belong to Phylum 'Coelentrata’ ?
(1) 'Sea pen’ (2) 'Sea feather'
(3) 'Sea cucumber (4) 'Sea fan'
Frt & & @9 dId9ger’ §9 7 giwafea Tl § 7
(1} & 9= (2) ‘& BT
(3} & T (4) ‘& B
e process of genetic mutation is ;
(1" Reversible (2) Irreversible
(3) Partially reversible | (4) Continuous
AR S afear &< B
(1) sfEs 2) e
(3} oivyes Sitad 4) SFETE

2 1 P-T;n.
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55. Wings of insects and wings of birds are the examples of :

56.

57.

(1) ‘Analogy’ (2) ‘Homology'
(3) ’'Serology’ (4} 'Mimicry’
aﬁﬁ%dﬁﬂﬂfﬁ!ﬂ%wﬁﬁ%m%:
(1) ‘TA=EY (2) ‘B’
3} e (4) ‘FfFEY

Which one of the following hormones of the pituitary glane is a direct
acting hormone that is without interaction of other hoermone?

{1) T.S. H. (2} A.C.T.H. (3) LH. (4) M. S.H.
ﬁwmaﬂﬁfmmﬁgqnﬁammﬁﬁﬁm,ﬁﬁqm
%,ﬁ%ﬁmmﬁaaﬁwﬁmﬁm%ﬁmmm%?
(1) &o THe THo (2) To Hlo Ho ugo

(3) Tdlo THo (4] THo OHo T

Which one of the following is the function of glucagon hormone?

(1} Increases uptake of glucose and amino acids by cells

(2) Stimulates glycogenolysis and release of glucose from liver cells
(3] Decreases blood glucose level

(4) Incrcases glycogenesis

22
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59,
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Commercial bath sponge is cleaned :

(1) 'Euspongia’ (2) 'Spongilla’

(3} 'Euplectells’ (4) ‘'Cliona’

1 & 7% &3 § |als =20 & ' o Sy &

(1) ‘FgEf~mr (2) @it

{3) ‘FgRRE (4) ‘acftaf=T

Archeopteryx, a transitional fossil between birds and reptiles was

discovered from the rocks of : _
(1} ‘Jurassic' period (2) ‘Archeozoic' era
(3] 'Cretaceous' period (4) 'Tnassic’ period

STEARRwE, 9eft wd w9y ot & €9 @ o afEdt ey
o B g St met @ orafva Rt T o

(1) RiEF T (2) ARPFANTE
3) ‘Frefima’ @ (4) ‘TEAfHE’ &
Kalazar is transmitted by :

(1] 'Tsc Tse fly' (2) 'Dragon iy’

(3] 'Sand fly' (4) ‘Fruit fly'

FrarT Fr & 3o g9 @ar #

(1] ‘HioHlo AR’ (2) ‘T w=E’

(3) &= gwg’ (4) ‘e W

Sleeping sickness is caused by :

(M~ Trypanosoma gambiense (2} Trypanosoma rangeli
(3) Trypanosoma brucei (4} Trypanocsoma cruzi

23 r.T.O.
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62.

63.

Fer T P @ o &9 2

(1) feoigiar ffadeer
(3) [feo=iEr gt

Ichthyophis is :
{1) afish
(3) a reptile

srRfisg sy B
(1) 9% #B=t
(3) @ §dgg

The genetic material of a virus is -

(1] 'DNA’
{(3) Either 'DNA’ or ‘RNA’

PRA H AR UM feeg 2 -

() ‘Slo tHo o’
(2} ‘#Ro WHo we’

(2)
(4)

(2)
(4)

(2)
(4}

(2)
(4)

Regmr ke
A=t ft

an amphibian
a8 mammal

0% IRIYET
UF WWHU

1RNA.
‘Both DNA' and ‘RNA’

(3] ‘Sto THo Go’ aremEy ‘Mo UTa Qo’
(4} ‘Slo OFo To"” W ‘3o THo To A=}

Nematocysts are found in :
(1} 'Porifera’
{(3) 'Nematodes'

isrﬁﬁﬁmﬁwﬁwﬁm%:

(1} “qrirpay
(3) Ee=a

(2)
(4)

'Coclentrata’
‘Annelida’
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B5. A gas behaves most like an idea] gas under conditions of :
(1) Low pressure and low temperature
{2) Low pressure and high temperature
(3) High pressure and low temperature
{4) High pressure and high temperature

mh%&ﬁﬁuﬁﬁﬂ%m%aﬁmwm%:
(1) =1 == wayq Prer amgae (2) P91 &= gag =g qgam
(B) T= W@ wgy e amE (g I I UEq 399 agEH

emperature below which the gas does not obey ideal gas Laws s -

{1) Critical temperature (2} Reduced temperature

(3) Inversion temperature {4}~ Boyle temperature
ﬁwgﬁ?ﬁfﬂ%ﬁ%ﬂ%éﬂﬁmmfﬂﬂ%ﬁmﬁaﬂwmm
d6 !

(1) ehI-des amgH= (2) THET A

(3] SgERH TOH (4) <= draE=

67. The temperature at which the volume of the gas is zero, is ?

U A R o fRe st e @ erae o e R, e 2
(1) o% () 273K (3) oF (4) -273°%

68. " It is not possible to determine precisely and simultaneouslyl both
the position and momentum of a microscopic particle.” It is the

principle of :
{1) Heisenbreg (2) Hund
(3) De-Broglie {4) Pauli

"o € T A R R ge o1 @ wdl 53w uay Refy et
o qI-arg q@édie Faftor srgmg 27 97 faer 2

(1) ®TSoTEEl & (2) B°E @
(3) E-d@relt (4) urseh =

2 E PQTQD-
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69.

T0.

7T1.

T2,

73.

The total number of orbitals in a shell having principal quantum

numkbker n is :

T RHT BOLE FITH WG N n B A I6d SuRue gw
anfdest A e ot ®

{1} 2n (2) 2n? (3} n? (4) n+1

According to the Aufbau principle, the orbital having the lowest energy
is:

I3 THETRT B TIAR, T) 9 St @ arem onfdes 2 -
(1) 3d (2} 4s (3) 4p (4) 4d

Which of the following contains both covalent and ionic bonds?

ﬁwﬁf@amﬁﬂﬁﬁaﬂﬁgﬁmmm—m%ﬁw
& g oy ¥ 7

(1) cc, (2) cacl, (3) BCl, (4} NH,(CI
The hybridization of sulpher in SF, molecule is ;

SF, Y i TFHT & GHer B
(1) sp? (2) spid {(3) sp3d? (4) sp?

The clectronic configuration of Cy?* ion (Atomic number of Cu=29) is:

Cui-wwﬁwﬁmﬁwg(cuaﬁrwmqg)
(1) 1s* 2¢22ps 3833p° 3dle  4g!
(2) 182 2s2p° 3523p¢ 390 442
(3] 1s? 2s522p¢ 3s?3p® 3d¢ 4g°
{4)  1s® 2822p® 3523p6 3d°  geo

26
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73,

76.

77.

14U/92/4(i)

Hydrogen bonding is not present in :

{1) Hydrogen fluoride (2) Hydrogen sulphide
(3) Ethyl alcohol (4) Acetic acid

9 BIgge FeEeT A IuRefy w6 Od 2 -

(1) BIEEEE GRIES (2) TEZSH ATHES

(3) uftr At (4) wHifew s (Faa)
In the reaction: ,Be® + projectile -» ,Be® + n!, the projectile is
(1} neutron (2) a- particle

(3) PB- particle (4) ¥-rays

5q At :¢Bc"+ﬁa‘ﬂ—>48eﬂ +nl, 1 o

(1) =g (2) a- O

(3) p- =7 (4) v- fafeTm

[l ,,U*** is assumed to decay one a-particle and two p-particles, the

possible product of decay is :
PR AT A1 & UPS § OF o-F°T Qa9 & p-HY1t &1 st ear
B, @ & ary gewfaa I e

[1] l;“:!'L]'i‘:u {2} ﬂu‘l.’lﬂ [3] 1J2%0 [4} uu:aa

92

Which of the dispersion method is used to prepare tooth-paste?

{1) Electro- dispersion (2) Peptization

[(3) Coagulation (4) Mechanical dispersion
H-f afdger Rfr 3 guwahr & zxw (S9-99) aqmEr o @7
(1) P aiE@ge (2) SdEHTor

(3) = (4) =% qfEger

27 P.T.O.
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hich of the following steps in the given photochemical reaction:
CH, (g) + Cl,{g} %, CH, Cl (g) + HCl (g)

is the chain terminating step :

Frfefae ot & @m-w1 92 38 Ru o gew cambes st
CH, (g) + Clg) %, CH, Cl(g) + HC (g) 1 ~Trm & o7 9z &

(1) ClL, > ClL +Cl. (2} CH, +Cl » éHa + HCI
() f:H1 + Cl,»CH,Cl + ' {"T/EZHJ +'C1->CH,CI

79. The metal that can not displace hydrogen from dil. H,S0, is :

mgsﬁﬁadil.ﬁzsmﬁramﬁmaﬁﬁwﬁaﬂiﬁmmﬁ.aﬁ
g : -

(1} Zn (2) Ag (3} Al {4) Fe

80. Which one of the following compounds does not exist?

Frafafaa At § a3 ot =8 27
(1} NCI (2) PCl (3) AsCl, (4) SbCl

81. Which of the following clements is most metallic?
f1] Fluorine (2) Chlorine (3) Bromine (4) lodine

ﬁwﬁ*ﬁaﬁaﬁfﬁﬂ%ﬂﬂaﬁmamﬂq%?
(1) w=ris 2) +HE (3) #nfw 4) A==

82. Which of the following is different from CaCO,?
(1) Limestone (2} Marble {3} Calcite (4) Gypsum

Frafafaa # @9 caco, & R 27
(1) g (2) MR (3) Femge (4) g

28
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84.

85,

14U/92/4{1)

All are good sources of Vitamin A except the following :
(1} Egg yolks
(2) Potatoes

(3) Dark green and deep yellow vegetables
i4) Beef liver

fFrr=faitaa & offdiaa avit e T 3 o= |ia ¥ -
(1) 92 & 5= (2) ST
(3) TeX Bt g dim 1 A @i (4) T o aga

Ascorbic acid plays a major rele in the formation of which protein ?
(1) Histidine (2) Keratin (3) Collagen (4} Mucus

uEpgh ot B W B Pt # orea g e & 7
(1) fRfedw  (2) BRI (3) FeeH (4) =9

Colostrum is needed by the infant to provide :
(1) Extra protein (2) Antibodies
(3) Extralactose (4) Vitamin C

. T @ st g @ Ry Prafafae R ad R

86.

(1) SRR g =M@ 3@ & ™Y
(2) wHErE T @ B R

(3) SfafEs A gam F & g
(4) Prefm @ em &3 &

Gluten is found in :

(1} Wheat (2) Rice (3] Milk (4} Corn
A 9T S @
(1) g 2) S ¥ (3) A A (4) el |

29 P.T.O.
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87.

88,

89,

90.

91.

Flannel refers to :

(1) Napped fabric (2) Knitted fabric

(3} Non woven fabric (4) Water repellant fabric
T 8 anad &

(1) A8 aex (2) T FAT aEH

3) FEEg 9= (4) & STEONft aT
Following is a natural continuous filament fibre :

{1) Weool (2) Silk (3] Rayon (4) Cotton
Frafifea & o ampfars aaa feerire dom 2

(1) A (2) =M (3) g (4} 8
Following is a cellulosic fibre :

{1) Wouol (2) Silk (3) Cotton (4) Nylon
(rifefad o Ageter gaa ¢

(1) = 2) TW|m (3) g (4) =T
Fabric finishes effective against bacteria are called -

(1 Calendaring (2) Moth proofing

(3) Mildew proofing (4) Antiseptic

T IREE St FEIRG B Rew TwEed 2

(1) Feisfir (2) =™ gitsey

(3) FTavgy giew (4) worafes

For children's play clothes it is better to assume :

(Il Comfort (2) Large pockets

{3) Freedom of movement (4) Absorbency

30
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93.
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Tt $ @ T = °§ Prefafara & enr aewh B
(1) HATH (2) =TI A=
{3) wfafafyr =5 =g (4) TFEINiger

The SGA infant is :

(1} Full term but underweight
{2) Premature

{3) Either full term or premature

{4} Any infant who weight less than 6 pounds

THodote farg] &ar 8 :

(1) 9ol T=RiEf PRy F99R

(2) BrA=g

(3) gt wrafafy o A=A

(4) #¥ 6qvs | HH AR Jrew Ay

The principal of design, which produces impression of unity, is called:

(1} Harmony {2) Proportion

(3) Balance (4} Rhythem

RoTE &1 FHeT=T, oY Thdl &1 99T I9 H 8, FIART B
(1) TFEIN (2) STuE

(3) HITA (4 @

Stainless steel contains :

(1} 18 parts of chromium and 8 parts of nickel
(2} 18 parts of nickel and 8 parts of chromium
(3) 8 parts of titanium and 18 parts of chromium
(4) 8 parts of nickel and 18 parts of titanium

a1 P.T.O.



14U/792/4{i)

95,

96,

o7,

& 2§ & B

(1) 18 AT &gy 3T 8 wrT Fifer
(2) 18 91T Tafesr ofit 8 Wy Hiftgy

(3) 89T TEefraw ofix 18 wHPT Hifrmy
(4} 8 Mi%ar 3T 18 A7 T1=frgw

The primary colours are :

32

Red, Yellow and Blue
Purple, Orange and Green

o, War g e
T, A 7 B

Non formal education
College education

I R
Pt faren

1988 to 2002
2012 to 2017

1998 § 2002

(1) Red, Green and Blue (2)
[3) Orange, Green and Yellow (4)
qrai¥E 7 R

(1) &4, 7 3 Fer (2)
(3) M, sU T diem (4)
Extension education is

(1) Formal education (2}
{3] School education (4)
TR fEmm 2o

(1) afroafie Rer (2)
(3) TRl e (4)
Eleventh Five year plan period is -

(1] 2002 to 2007 (2)
3} 2007 to 2012 (4)
aEEt Yeedty G @ e Fr=fafeaa 2 .
(1} 20024 2007 2)
(3) 20079 2012 (4)

20128 2017
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98. An integrated scheme for women's empowerment is :

(1) Annpurna (2} Swayam siddha
(3) NREP (4) AMP

AT F qufdweT B R o dor B

(1) Sryor 2) @ T

(3} o #io o dlo (4} Te To fio

99. Following is a traditional medium of communication -

(1) Television {2) Poster
{3) Radio (4) Puppetry
Fr=fafae & o qRufis |97 &0 Aamean ®
(1) ¥R (2} 9T
(3) WA (4) SHEgeh

100.KAP stands for :
(1} Knowledge, Attitude, Practices
(2} Knowledge, Adaptation, Process
{3) Knowledge, Adoption, Practices
{4) Knowledge, Adoption, Progress
Fo To Yo § amyd 8 :
(1) ¥, odiegs, Sfraw (2) IS, usneH, M99
(3) e, wsrwE, Rfeeds (4) AW, e, oiE

33 3000



